Unit 2: Chemistry





Name: ____________________________________________________

Notes 








Date: __________________

LAW OF CONSERVATION OF MATTER NOTES

What are the four indicators or signs that a chemical reaction had occurred?
1. 







3.

2. 







4.

**Remember, when a chemical reaction occurs, a 




 always forms.

THE LAW OF CONSERVATION OF MATTER: 





_________________________________














_______________

The number of _______________________________  ALWAYS equals the number of ___________________________________.

EOG Question:

In the following reaction: 2NaN3 decomposes to form 2Na + 3N2. 

If 500 grams of NaN3 decomposes to form 323.20 grams of N2. How much Na is produced?


A 100 grams


Work:

B 176.80 grams

C 323.20 grams

D 500 grams

Check for Understanding: 

FeS + 2 HCl --> FeCl2 + H2S

If the reactants have a mass of 500g, what will be the total mass of the final products if the reaction occurs to completion?
______________

In the above reaction, if there are 5 grams of FeS and 20 grams of HCl, what is most likely the final mass of the products?  ______________________

Practice!
For the following reactions, solve for the missing amount in the reaction.  

1. 2Na + O2 ( Na2O2



2. C + O2 ( CO2
4g   +   2g  (      ____



     6g  + 4g  (   ____
3. 2C + O2 ( 2CO




4. 2H2O ( 2H2 + O2
            15g +  ___ (     18g



                  200g   (15g  +  _____

5. 2HgO ( 2Hg   + O2




6.  CH4 + 2O2 ( CO2 + 2H2O

             215g  ( 201g +   ____



   
       8g  +    32g (22g +    _____

7. Cu + AgNO3 ( Ag + Cu(NO3)2


8. Mg + HCl ( MgCl2 + H2
15g +   _____ (  12g  + 37g


    
  _____  + 5g   ( 15g  +  2g
9. AgNO3 + NaCl ( AgCl + NaNO3


10.  HCl + NaOH ( H2O + NaCl


    _____   +   32g (   49g   +   51g

            
        10g  +  12g   (  16g   +  ____

The number of REACTANTS always equals the number of __________________________!

More Practice!

For each of the following reactions apply the Law of Conservation of Matter to find the missing quantity.

A.     
  2Na    +    I2   (    2NaI

          
   _____   +   3 g  (   27 g

B.  
H2    +    Br2     (    2HBr


167g +   _____
(   200g

C.   
MnCl2      +     H2S     (    MnS    +     2HCl


45g      +            83g (
   ______
    +     30 g

D.     2KCl      +     H2SO4    (     K2SO4    +    2HCl

          5g +    ______
(    42g
   +         3 g

E.  
Al    +      3Br     (     AlBr3


98g +    2g     (         _____
F.  
Fe2O3    +    3H2     (   2Fe  +   3H2O


 80 g      +     55 g     (    13 g  +     _____
